Best model for HELP J100207.65+020851.99 at z = 0.331 x2=3.39
OPTx2=1.48 IRx2=9.4 threshold (OPT IR)=10.64 [pm]

S ' Stellar attenuated |
102 | —  Stellar unattenuated ||
F CAGALE N — Dust emission 5
s P — AGN emission
[ ._. : : 1 = Model spectrum
101 ue s : |I| e0e¢ Model fluxes
? ' 5 [T1[1] Observed fluxes
_10%% 3
>
E‘ - ~
e -l ’ \ \
X 10 3 ! E
5 - A
E iy (" em o AN
- =N\
102 ¢ . i
\
\
- AN
107 \ .
N\
X 4 ]
> 10 E
(e 1.0 —— — — —
= 10 o]
S5 0.5F 3
S
2 0.0F R
o ]
v _ [ ]
> 0.5 ]
] ]
o 10° 10* 10° 10° 10* 10°

Observed wavelength [pm]



